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ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 2017-2¢1g
Duration:1 ¥ Hys

Max Marks: 100

Class :V

EENERAL INSTRUCTIONS
READ THE INSTRUCTIONS CAREFULLY BEFORE ANSWERING THE QUESTIONS

Please fill up your Roll No. and class in the box provided on the

answer sheet.
This question booklet contains 50 questions and 5 Tie Breaker

questions. All questions including Tie Breaker are compulsory. Tie

Breaker questions would be evaluated only in case of a tie.

3. Each question has 4 options a, b, ¢, d.
For each question, select the best/correct option and darken the

bubble completely against the corresponding question in the answer

sheet provided.
5. Each question carries 2 marks.

6. Use blue/black ball pen/pencil to darken the bubble.
7. Darken only one bubble against each question.

8. There will be no negative marking.
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lective noun.

the correct col
Choose o sh

c) pack

b) school
[l in the plank.

e to ta
c) station

a) fleet

Choose the correct word to fi

itis difficult form

)

AL RIS, cevvrnermrmsenesss .
b) junction

a) juncture

Choose the correct sentence.
ato in the kitchen?

(5

a) Are there any tom

b)Is any tomatoes in the kitcl
s in the kitchen?

en?

c) Are there any tomatoe

d) Is there any tomatoes in the kitchen?

The superlative form of the word ,’ far’ is
b) further

-------------

a) farther c) furthest

5. Choose the correct spelling.
a) INITIATIVE b) INTIATIVE
6. Fill in the blank using suitable reflexive pronoun.

c) INITIATVE

Howdid you hurt .........cocovvuiiiniesinncinn

b)herself ¢) yourself

a) yourselves
7. Fill in the blank using the correct word,
Ms.Anu’s....c.ccvvvvens e,
popular,
a) affectionate b) affection
8. Product of place value of 8 in 389583 is

a) 64 b)640000 c)64
00000 d
9. How many 5’s in 5555 72 e
a)4
) b)I11] ¢)5550 d)1000

ke a decision.

¢) affectionately

BS017 ‘

d) flock

d) corner

d) farthest

d) INITIETIVE

d) himself

behaviour  with the kids made her very

2=

d) affectionateness

33
I ;)h RS oo d)10
a)4,8,12,16 actors of 40 and 96 whicy, are also multipleg of
12 ]735’ .' b)4,8 ¢)1,4,8, D14 of 4 are .
TR =035 4,40,96
a)1000
n0ne of these
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¢h more mitk than eream is required?

P
‘N

LA eIpe noads %
e ndads K¢ S s
N S Rcup ofmilk and Y4 cup of cream. How mu
DT .
16. CP D720 )220 d)4/20
o =R D - .
& CP=Rs2400; SPishalfof CP. Loss =

.

a) Rs 200 ~K
D) Rs 3600 ¢) Rs 2400 d) Rs 1200

17. The nutrient that provides energy for later use is

2) Vitamin  b) Protein  ¢) Carbohydrate d) Fat
18. Molecules of gases move more freely than those of

a) Solids b) Liquids  ¢) Both solids and liquids ~ d) Neither solids nor liquids
19. The largest group of animals with backbone is

a) Mammals b) Birds c) Fishes d) Amphibians
20. The crop which is grown from May to October is

a) Maize b) Wheat ¢) Barley d) Peas
21. The seed which is dispersed by animals is

a) Dandelion b) Lotus ¢) Sycamore  d) Xanthium

22. The type of body in starfish and sea urchin is

a) Spongy b) Spiny ¢)Hollow  d)Tube like
23. The layer of atmosphere that ab
b) Mesosphere

sorbs UV radiation from sun is

c) Exosphere d) Stratosphere

a) Troposphere
24. Which of the following is an example
a) Making of curd  b) Rusting of iron
ge of nitrogen in the atmosphere is

b) 77 c) 79 d) 76

of physical change?

c) Breaking of glass d)Burning of fuels

25. The percenta
a) 78

26. The revolution of eart

b) Natural disaster

type of climate.

h causes
¢) Thunder & lightening d) Days & nights.

a) Seasons

217. Greenland has

a) Mediterranean ¢) Arctic
shows countries and continents 1S called

b) Physical map c) Population map

b) Continental d) Equatorial

28. The map which
a) Political map

d) Climatic map
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out the year in the

d zonc c) Frigid zonc
ns in Saudi Arabia

¢) Tributaries

29, It is hot and humid through

a) Temperate zone b) Torri

¢ rai
30. Streams that arc found after th

a) Wadis
31. The spot of origin of
a)Epicenter  b) Focus
32. Which of these animals is foun

b) Oasis

carth quake
c) Vent

d in the Ituri forests

a)Lion b) Penguin . c) Okapi
33. The longest river in North America o
a) Colorado D) Missouri ¢) Mississippt
34. Which degree denotes North Pole?
29°N  b) 0°N c) 180°N
35, World cancer day is observed on
a) January 4 b) March 8 c) February 4

36. Who is the founder of Sikh Religion?
a) Guru Nanak  b) Gurudev Singh
37. What is the study of universal known as?
a) Cosmetology b) Dermatology

c¢) Fratar Singh

c) Meteorology

BSO017 l g

d) Mountains
d) Oxbow lake
d) Crater

d) Snow leopard

d) Ontario

d) 23°N

d) April 12

d) Gaini Gurubandar Singh

d) Cosmology

38. Madhubani, a style of folk painting is popular in which of the following states in India?

a) Bihar b) Bengal

39. The supreme commander of armed force of our country,

a) Prime Minister b) President

40. Which state in India js called as orchid paradise?
a) Jammu and Kashmir b) Assam

41. The first Indian Woman to be honoured

a) Indira Gandh;

b) Sarojini Naidy
42. Which is the largest plate

au in the wor]d?
a) Malva plateay

43. World health day is ob
a) April 7

served on

b) September 29 o) May 17

¢) Uttarakhand
¢) Vice President
¢) Arunachal Pradesh

with Bharath Ratna.

b) Tibetan plateau ) Columbia plateay

d) Assam

d) Governor .

d) Uttar Pradesh

¢) Mother Teresg d) Kalpana Chawla

d) Colorado plateay

d) March 24
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44. Insert the missing letter

A F =
H M
a)N b i - '
45. Vishnu ranks 1 6?hofrom ] p ) d)Q .
he top and 49" from the bottom 10 & class. How many students are there in
the class?
2) 66 b) 65 ¢) 64 d) 62
46. Yogesh is shorter than Mahendra, Kishan is shorter than Yogesh. Then who is the tallest one?
a) Yogesh b) Mahendra ¢) Kishan d) Cannot decide
47. Which of the following pair of numbers is differcnt from the other three pairs?
a) (92, 46) b) (77, 38.5) ¢) (30, 16) d) (42,21)
48. Day: Night = War: ?
a) Missile b) Soldiers ¢) Wisdom d) Peace
49. How many times the two hands of 2 clock coincide in 12 hours.
a)ll b) 12 c) 22 d) 24
50. 22,21,23,22, 24, 23, ... What number should come next?
a) 22 b) 25 c)24 dy26
Tie Beaker
1. Choose one word for the phrase,” a list of books.”
a) antidote b) catalogue c) autobiography d) bibliophile
2. Find the number from which 9813 must be subtracted to leave 13456.
a) 3249 b)3643 €)23269 d)2324
3, The discase caused due to the deficiency of proteins is
a) Kwashiorkor b) Rickets ¢) Beriberi d) Anaemia
4. The Cyclone that hit Florida in September 2017.
a) Katrina b) Irma c¢) Wilma d) Hermine
5. What is the minimum age for competing in Olympic games?
b) 17 years c) 20 years d) 16 years

a) 18 years
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